
12

EXPLODED VIEW/REPAIR PARTS

Universal Benchtop Power Tool Leg Stand Model AC9910
RIDGID parts are at www.ridgidparts.com

1

2

3
4

5

6

7

8

9

10
11

12

2

1

8

3

16

13

6

14

13

15

 1 * 820244-7 ................. Pan Hd. Screw (M6 x 1.0-30)
 2  828713-1 ....................................................... Table
 3  827558-1 ........................................... Upper Brace 
 4 * 821103... Short Neck Carriage Bolt (M8 x 1.25-16)
 5  827557...................................................Upper Leg
 6 * 820248-6 ........................Pan Hd. Screw (M4 x 20)
 7  827556-1 ...............................................Lower Leg
 8 * 805483......................................... Hex Nut (3/8-16)

* STANDARD HARDWARE ITEM — MAY BE PURCHASED LOCALLY

 9  803835-3 .................................. Leveling Foot (3/8)
 10  827560......................................Lower Right Brace
 11  827561........................................ Lower Left Brace
 12 * 829772........................Hex Flange Nut (M8 X 1.25)
 13 * 820238-6 ............................................Washer (M6)
 14  818826-6 .................................... Lockwasher (M6)
 15 * 820236-6 ................................. Hex Nut (M6 X 1.0)
   983000-416 .... Operator's Manual w/Layout Template 




